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(e) Estimate the production for I g64and 1966 from
the following data :

Year: 1961 tg6. 1963 19fl 1S165 1966 1962Prodrrtion: 200 ZZO 260 _ 35O ;;
(0 state Newton - Gregory backward interpolation

formula.

Find Z-transturmarion of f(k!= 
[,,];oo

State Cauchy's integral theorem.

Prove that : Arog/(r)=,"{,+#]

Defrne regression lines.

Seetion-B

Note Atternpt any five etrestions from this sectioqr:

. (t 0x5-50)

Q.2 Find rhe Fourier tranqform of r(r)= 
fi: lrl:;

Q.3 Exarnine the nature ofthe function

f(,\=''lr'(,'P ;z *or' +y'"

flo)=o
In the region including the origin.

(e)

(h)

(i)

fi)
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Q.4

Q.s

Q.6

Q.7

Solve fte fieilowing system oflineaequatims by Crout's

Method:

x+y *z:3;2x-y+ 3z: 16;3x+y- z:-3

Find the rank correlation coeffrcient of marks ofA and

B from the following data :

Mar*s A 15 20 27 13 45 60 20 75

Marls B 50 30 )] 30 z5 l0 30 70

A survey of 240 families with 4 children shorrs the

following distibution :

No. of boys 43210
No. of fanilies: l0 55 105 58 12

Test the hlpothesis that male and female birttrs are equal

probable.

(Given /20.05- g.4g and ll.l for 4 d.f. and 5 d.f

respectively)

Solve the following differential equation using Runge-

Kuttamethd

Giventhat += I withy(g): l, findy(2).& x+y

48500 (3) P.T.O.



Q.8 use the method of least squares to obtain the normal

equations and fit the curve for y - % * ,rJi to the
x

following table ofvalues :

Q.9 The table given beiow reveals the velocit5/ 'v' of a body

during the time 't' specified. Find its acceleration at

t:1 .1 .

t: 1.0

v : 43.1
L.4

60.8

Attempt any two questions from this section: (15x2=30)

Q I 0 a) Using Lagrange's interpolation formul4 find y( 10)

from the following table.

x: 5 6 9 l1
y: 12 13 14 16

b) The first four moments about the working mean
28.5 of a distribution are 0.294,7 .144,42.4A9 and
454.98. Calculate the moments about the mean.

Also evalute p, and Fz and comment upon the

skewness and kurtosis ofthe distribution.

L,L L.2 1.3

47.7 52.L 56.4

Section-C
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x 0.1 0.2 0.4 0.5 I 2

v 2t ll 7 6 5 6



c)

-...-l-
]'

Using the Fourier integral transformation, show

,r.O

that e-uc = 
lo 

I 
tott', 

ds,a) 0,-r > 0
fr Is- *a-

Q.11 a) Evaluate by Cauchy integral formula

|rf.ryfq dz rvhere c rs the circr* Jri - 3 
"

b)

c)

Solve x' -Sx+3 = 0 by using Regula - Falsi

method.

Using the Z-transform solve the following
difference equations :

7*t +z*  ),trnl +3!n =3k

given {o) = 0, Y0) = I

From the data gi ven below, lind tlre ntrmber of iterns n :

rry =0.5I XY = 120,I X2 =90,o, = 8 where

x and y are deviations from the arithmetic mean.

lf f (r) = u + iv is analytic function ancl

tt- v -- ex(coty -sin-lf), finA ft ) in terms of z'

Q.12 a)

b)

48500 (s) P.T.O.



c) Find tr * dx upproximatety using Simpson,sl+x
3/8 rule on integration.
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